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’ 100kN/mM%#BZ 5 -l -~ - -|3m%EiBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
ZFhst 1.00/0.00 ~ 477 59.40| #hLlst 1000 ~ 477 1.76 9.41 Fhst 1.00] 5.00 ~ 5.00 59.40| #h L4 | 500 ~ 5.00| 1.76 9.41
9 100kN/mM%BZ % -l -~ - -|3m%iBZ5 -~ - - —| 100kN/m%#8% % - -~ - -|3mEBZ5 -~ - - -
Fhst 1.00/0.00 ~ 7.32 93.27| #hbLls 1000 ~ 7.32| 1.76 9.43 Fhst 1.00] 5.00 ~ 9.40 93.27| #hL4 | 500 ~ 9.40| 1.76 9.43
3 100kN/ Mm% 2 % 1.00/0.00 ~ 0.28 104.05|3m%E#BZB| - ~ - - -] 100kN/mM%Z#% % 1.00/ 10.96 ~ 11.80 104.05|3m%E#BZ % -~ - - -
ZFhst 1.00/0.28 ~ 8.06 100.00f x5t [ 000 ~ 8.06| 2.05 11.00 Fhst 1.00] 5.00 ~ 10.96 100.00| Zhklst | 500 ~ 11.80] 2.05 11.00]
A 100kN/ Mm% 2 % 1.00/0.00 ~ 1.63 124.89| 3m%E#BZB| - ~ - - -] 100kN/mM%Z#% % 1.00| 10.98 ~ 17.88 124.89|3mZE#BZ % -~ - - -
Fhst 1.00[ 1.63 ~ 9.41 100.00[ Zhust [ 000 ~ 941 2.23 11.93 Fhst 1.00] 5.00 ~ 10.98 100.00| Zhklst | 500 ~ 17.88] 2.23 11.93
5 100kN/ Mm% 2 % 1.00/0.00 ~ 1.96 130.19| 3m%E#BZ 3| - ~ - - -] 100kN/mM%Z#% % 1.00| 10.55 ~ 18.04 130.19|3mZE#BZ % -~ - - -
zhst 1.00/1.96 ~ 974 100.00| Zhist [0.00 ~ 9.74| 234 12.54 Fhst 1.00] 5.00 ~ 10.55 100.00| ZhbLlst | 500 ~ 18.04| 2.34 12.54
6 100kN/ Mm% 2 % 1.00{0.00 ~ 2.81 144.43|3m%E#BRB| - ~ - - -] 100kN/mM%Z#% % 1.00| 10.53 ~ 24.59 144.43| 3m%E#BZ % -~ - - -
Thst 1.00| 2.81 ~ 10.59 100.00| Zxust [ 0.00 ~ 10.59| 2.69 14.38 Thst 1.00] 5.00 ~ 10.53 100.00f Zh a5t | 500 ~ 2459| 2.69 14.38
; 100kN/m#%#8 2 % 1.00/0.00 ~ 0.64 109.50| 3m%E#BZ 5| - ~ - - -] 100kN/mM%#% % 1.00| 11.06 ~ 13.22 109.50| 3m%E#E %% -~ - - -
Thst 1.00/0.64 ~ 8.42 100.00| Zh st [0.00 ~ 8.42| 2.04 10.92 Thst 1.00] 5.00 ~ 11.06 100.00( Zh st | 500 ~ 13.22| 2.04 10.92
8 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 452 56.33] £hLlst 1000 ~ 452| 1.91 10.24 Thst 1.00] 500 ~ 5.00 56.33| #h L4t | 500 ~ 5.00| 1.91 10.24
9 100kN/mM%#BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 7.33 93.50| #hklst |000 ~ 7.33] 1.93 10.34 Thst 1.00] 5.00 ~ 11.00 93.50| #hbLlst | 5.00 ~ 11.00] 1.93 10.34
10 100kN/m%#8 2 % 1.00[{0.00 ~ 2.03 131.32| 3m%E#BZ 5| - ~ - - -] 100kN/mM%#% % 1.00| 10.53 ~ 18.21 131.32| 3mZE#B 2% -~ - - -
Thst 1.00/2.03 ~ 9.81 100.00| Zh st [0.00 ~ 9.81| 237 12.70 Thst 1.00] 5.00 ~ 10.53 100.00f Zh a5t | 500 ~ 18.21| 237 12.70]
» 100kN/m%#8 2 % 1.00/0.00 ~ 218 133.78|3m%E#BZ 5| - ~ - - -] 100kN/mM%#% % 1.00| 10.53 ~ 19.19 133.78| 3mZE#Ex% -~ - - -
Thst 1.00[/2.18 ~ 9.96 100.00| Zh a5t [ 000 ~ 996 2.36 12.65 Thst 1.00] 5.00 ~ 10.53 100.00f Zhlust | 500 ~ 19.19| 2.36 12.65
12 100kN/m%#8 2 % 1.00/0.00 ~ 228 135.46|3m%E#BZ 5| - ~ - - -] 100kN/mM%#% % 1.00| 10.54 ~ 20.02 135.46| 3m%E#EZ % -~ - - -
Thst 1.00| 2.28 ~ 10.06 100.00[ x5t | 0.00 ~ 10.06| 2.68 14.34 Thst 1.00] 5.00 ~ 10.54 100.00f Zhlust | 500 ~ 20.02| 2.68 14.34
13 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 4.69 58.45| ZhiLlst 1000 ~ 469 1.83 9.79 Thst 1.00] 500 ~ 5.00 58.45| #hbLlst | 500 ~ 500/ 1.83 9.79
1 100kN/ Mm% 25 -l -~ - -|3m%Ei#B2 5 -~ - - —| 100kN/m%E#8% % - -~ - -|3m%E{BZ 3 -~ - - -
Thst 1.00/0.00 ~ 487 60.67| £hrlst 1000 ~ 487| 1.89 10.11 Thst 1.00] 500 ~ 540 60.67| #hbLlst | 500 ~ 540| 1.89 10.11
15 100kN/mM##BZ 5 -l -~ - -|3m%Ei#BZ 5 -~ - - —| 100kN/m%#8% % - -~ - -|3m%E{BZ 3 -~ - - -
zh st 1.00/0.00 ~ 469 58.45| ZhLls 1000 ~ 469] 1.83 9.79 zh st 1.00] 500 ~ 5.00 58.45| ZhLl4 | 500 ~ 500| 1.83 9.79




